Division par 10* (E)

2,218 =101 =

1,5+ 10'=

3,5+ 10'=

9,268 + 10' =

6,2+ 10'=

6,98 ~ 10 =

55+10=

1,4992 =+ 10 =

3,2+ 10'=

4,502 + 10 =

Trouvez chaque quotient.

9,7 +10'=

1+10'=

51263 + 10' =

9,2 +10"'=

9,217 = 10* =

2,2 +10"=

9,5+ 10'=

8,3+ 10'=

7,61+ 101 =

7,009 = 10 =
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Division par 10* (E) Solutions

Trouvez chaque quotient.

2,218 +10*=0,2218 9,7 +10'=0,97
1,5+101'=0,15 1+10'=0,1

3,5+ 10'=0,35 51263 =~ 10*=0,51263
9,268 ~ 10* = 0,9268 9,2+ 10'=0,92

6,2 +10'=0,62 9,217 +10*=0,9217
6,98 ~ 10* = 0,698 2,2+10'=0,22

5,5+ 10*=0,55 9,5+ 10'=0,95
1,4992 = 10* = 0,14992 83+10'=0,83
3,2+10'=0,32 7,61 +10'=0,761
4,502 + 10 =0,4502 7,009 = 10* = 0,7009
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